ECE 302-003 Homework #4 Solution

Fall 2023

Question 38:

b:
$$P(HHH) = P(HHT) = \cdots = P(TTT) = \frac{1}{8}$$
 (all outcomes are equally likely)
$$P(X=0) = P(TTT) = \frac{1}{8}$$

$$P(X=1) = P(HTT) + P(THT) + P(TTH) = \frac{3}{8}$$

$$P(X=2) = P(HHT) + P(HTH) + P(THH) = \frac{3}{8}$$

$$P(X=3) = P(HHH) = \frac{1}{8}$$

$$P_{X}(x) = \begin{cases} \frac{1}{8} & x = 0,3\\ \frac{3}{8} & x = 1,2\\ 0 & o \end{cases}$$

$$\begin{aligned}
& \text{$4: } S = \left\{ \begin{array}{c} (0,0), (0,1), (0,2), (0,3), (1,0), (1,1), (1,2), (1,3), \\ (2,0), (2,1), (2,2), (1,3), (3,0), (3,1), (3,2), (3,3) \end{array} \right\}
\end{aligned}$$

5:
$$P(\alpha, \alpha) + 2p(\alpha, \beta) = p(\alpha, \beta) = P(\alpha, \beta) = P(\beta, \alpha)$$

 $P((\alpha, \alpha)) = \frac{1}{64} = P((\beta, \beta)) = P((\alpha, \beta)) = P((\beta, \alpha))$
 $P((\alpha, \alpha)) = P((\alpha, \alpha))$

$$f: P((0,01) + P((1,11) + P((1,21) + P((1,31)) = \frac{1}{64} + \frac{9}{64} + \frac{9}{64} + \frac{9}{64} = \frac{20}{64} = \frac{5}{16}$$

Question 39:

C:
$$P(A) = P(x=1) = \frac{1}{2}$$

 $P(B) = P(y=1) = \frac{1}{2}$

$$P(c) = P(M=y) = \frac{1}{2}$$

$$P(A \cap B) = P(X = 1 \ 2 \ Y = 1) = P((1, 1)) = \frac{1}{4}$$

Question 40:

1) d:
$$\int_{0}^{2\sigma} d\cos(\omega t + \theta) d\theta$$

$$= d\sin(\omega t + \theta) \int_{0}^{2\sigma}$$

$$= d \left[\sin(\omega t + L\pi) - \sin(\omega t)\right]$$

$$= 0$$

$$b: \int_{0}^{2\sigma} d\cos(\omega t + \theta) d\alpha$$

$$= \cos(\omega t + \theta) \left[\frac{1}{2}d^{2}\right]_{0}^{2\sigma}$$

$$= \cos(\omega t + \theta) \left(\frac{1}{2}(4\pi^{2}) - 0\right)$$

$$= 2\pi^{2}(\cos(\omega t + \theta))$$

Question 41:

$$f_{\chi}(x) = \begin{cases} x & o \leq x \leq 1 \\ \frac{1}{2} & 1 < x \leq 2 \\ o & ow \end{cases}$$

$$f_{\chi}(x) = \begin{cases} x & o \leq x \leq 1 \\ \frac{1}{2} & 1 < x \leq 2 \\ o & ow \end{cases}$$

$$f_{\chi}(x) = \begin{cases} x & o \leq x \leq 1 \\ \frac{1}{2} & 1 < x \leq 2 \\ o & ow \end{cases}$$

$$f_{\chi}(x) = \begin{cases} x & o \leq x \leq 1 \\ \frac{1}{2} & 1 < x \leq 2 \\ o & ow \end{cases}$$

1: for
$$0 \le x \le 1$$
, $F_{\chi}(x) = \int_{0}^{x} s \, ds = \frac{1}{2} s^{2} \Big|_{0}^{x} = \frac{1}{2} x^{2}$

c: for
$$1 < x \le L$$
, $F_X(x) = \frac{1}{2} + \int_1^x \frac{1}{2} ds = \frac{1}{2} + \frac{1}{2} s \Big|_1^x = \frac{1}{2} + \frac{1}{2} (x - 1) = \frac{1}{2} x$

e:
$$F_{\chi}(x) = \begin{cases} 0 & \chi < 0 \\ \frac{1}{2}\chi^{2} & 0 \le \chi \le 1 \\ \frac{1}{2}\chi & 1 < \chi \le 1 \\ 1 & \chi > 2 \end{cases}$$

Question 42:

$$f(x) = \frac{3}{2} e^{-3|x|}$$
1.
$$f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int_{-\infty}^{x} \frac{3}{2} e^{-3|x|} \int_{-\infty}^{x} f(x) dx \qquad f(x) = \int$$

3.
$$\lim_{x\to\infty} F(x) = 1$$

4.
$$\int_{K} = \int_{-(k+i)}^{-k} f(x) dx + \int_{K}^{k+i} f(x) dx$$
 $k \text{ integer } \ge 0$

$$= \int_{-(k+i)}^{-k} \frac{3}{2} e^{3x} dx + \int_{K}^{k+i} \frac{3}{2} e^{-3x} dx$$

$$= \frac{1}{2} e^{3x} \Big|_{-(k+i)}^{-k} - \frac{1}{2} e^{-3x} \Big|_{k}^{k+i}$$

$$= \frac{1}{2} \left(e^{-3k} - e^{-3(k+i)} \right) - \frac{1}{2} \left(e^{-3(k+i)} - e^{-3k} \right)$$

$$= e^{-3k} \left(\frac{1}{2} + \frac{1}{2} \right) + e^{-3(k+i)} \left(-\frac{1}{2} - \frac{1}{2} \right)$$

$$= e^{-3k} - e^{-3(k+i)}$$

Question 43:

d:
$$P(output = 0) = P(output = 0 | input = 0) P(input = 0) + P(output = 0 | input = 1) P(input = 1)$$

$$= (1 - \xi_1)(p) + (\xi_2)(1-p)$$

$$= p(1 - \xi_1) + \xi_2(1-1)$$

b:
$$P(inpnt=0 | ontput=1) = P(ontput=1 | input=0) P(input=0)$$

$$= \frac{\mathcal{E}_{i} P}{\mathcal{E}_{i} P + (1-\mathcal{E}_{i})(\mathcal{U}_{i}1-P)}$$

$$P(inpnt=1 \mid output=1) = \frac{P(output=1 \mid input=1)P(input=1)}{P(output=1)}$$

$$= \frac{(1-\epsilon_2)(1-p)}{\epsilon_1 p + (1-\epsilon_2)(1-p)}$$

which is more prolable depends on P, E, and E2

For
$$p=0.5$$
, $E_1=0.1$, and $E_2=0.1$,
$$p(\text{input}=0 \mid \text{output}=1) = \frac{0.1 \cdot 0.5}{0.1 \cdot 0.5 + (1-0.1)(1-0.5)} = 0.1 + 1$$

$$p(\text{input}=1 \mid \text{output}=1) = \frac{(1-0.1)(1-0.5)}{0.1 \cdot 0.5 + (1-0.1)(1-0.5)} = 0.9 + 1$$

$$p(\text{input}=0 \mid \text{output}=1) = \frac{0.3 \cdot 0.9}{0.3 \cdot 0.9 + (1-0.4)(1-0.9)} = \frac{2}{13} + 1$$

$$p(\text{input}=1 \mid \text{output}=1) = \frac{(1-0.4)(1-0.9)}{0.3 \cdot 0.9 + (1-0.4)(1-0.9)} = \frac{6}{13} + 1$$

Question 44:

$$P(H|coin A) = P_1 = \frac{1}{3}$$

$$P(H|coin B) = P_2 = \frac{2}{3}$$

$$A: P_{3} = \frac{1}{2} \left(\frac{1}{3} \right) \left(\frac{1}{3} \right) \left(\frac{1}{3} \right) + \frac{1}{2} \left(\frac{2}{3} \right) \left(\frac{2}{3} \right) \left(\frac{2}{3} \right)$$

$$= \frac{1}{2} \left(\frac{1}{27} + \frac{2}{27} \right) = \frac{1}{2} \left(\frac{1}{3} \right) = \frac{1}{6}$$

$$P_{2} = \frac{1}{2} \left(\frac{3}{3} \right) \left(\frac{1}{3} \right) \left(\frac{1}{3} \right) \left(\frac{2}{3} \right) + \frac{1}{2} \left(\frac{3}{3} \right) \left(\frac{2}{3} \right) \left(\frac{2}{3} \right) \left(\frac{1}{3} \right)$$

$$= \frac{3}{2} \left(\frac{2}{27} + \frac{4}{27} \right) = \frac{3}{2} \left(\frac{2}{9} \right) = \frac{1}{3}$$

$$P_{3} = \frac{1}{2} \left(\frac{3}{3} \right) \left(\frac{2}{3} \right) \left(\frac{2}{3} \right) \left(\frac{1}{3} \right) + \frac{1}{2} \left(\frac{3}{3} \right) \left(\frac{1}{3} \right) \left(\frac{1}{3} \right) = \frac{1}{3}$$

$$P_{3} = \frac{1}{2} \left(\frac{2}{3} \right) \left(\frac{2}{3} \right) \left(\frac{2}{3} \right) \left(\frac{2}{3} \right) + \frac{1}{2} \left(\frac{3}{3} \right) \left(\frac{1}{3} \right) \left(\frac{1}{3} \right) = \frac{1}{6}$$

$$P_{k} = \begin{cases} \frac{1}{6} & k = 0, 3\\ \frac{1}{3} & k = 1, 2\\ 0 & 0 \end{cases}$$

$$b: P(coin A | k=0) = \frac{P(k=0 | coin A) P(coin A)}{P(k=0)} = \frac{\left(\frac{2}{3}\right)^{3} \frac{1}{2}}{\frac{1}{6}} = 3\left(\frac{8}{27}\right) = \frac{8}{7}$$

$$P(aoin A | k=1) = \frac{P(k=1 | coin A) P(aoin A)}{P(k=1)} = \frac{3\left(\frac{4}{7}\right)\left(\frac{1}{3}\right)^{\frac{1}{2}}}{\frac{1}{3}} = \frac{9\left(\frac{4}{27}\right) = \frac{2}{3}}{\frac{1}{3}}$$

$$P(coin A | k=1) = \frac{P(k=2 | coin A) P(coin A)}{P(k=2)} = \frac{3\left(\frac{1}{4}\right)\left(\frac{2}{3}\right)^{\frac{1}{2}}}{\frac{1}{3}} = \frac{9\left(\frac{2}{27}\right) = \frac{3}{3}}{\frac{1}{27}}$$

$$P(coin A | k=3) = \frac{P(k=3 | coin A) P(coin A)}{P(k=3)} = \frac{\left(\frac{1}{27}\right)^{\frac{1}{2}}}{\frac{1}{2}} = \frac{3}{27} = \frac{1}{9}$$

Note: there is I way to get 3 H's

there are 3 ways to get 2 H's

" " 3 " " 1 H's

there is I way to get OH's

Question 45:

$$P(A) = P(B) = P(C) = \frac{1}{2}$$

$$P(A \cap B) = P(i) = \frac{1}{4} = P(A)P(B)$$

They are not independent events

Question 46:

U~ 91(0,1)

$$P(A \wedge B) = P(\frac{1}{2} < u < \frac{1}{2}) = \frac{1}{2} = P(A)P(B)$$

$$P(Anc) = P(\emptyset) = 0$$

A and B we independent

A onl c are NOT independent

Band Care independent

A, B, Care NOT in dependent

Question 47:

A and B independent
$$\Rightarrow P(A \cap B) = P(A)P(B)$$

 $P(A|B) = P(A)$
 $P(B|A) = P(B)$

$$P(B^{c}|A) = 1 - P(B|A)$$

 $P(B^{c}|A) = P(A) - P(BAA) = P(A)(1 - P(B)) = P(A)P(B^{c})$
Therefore, A and B° we independent

$$P(A^{c}|B) = 1 - P(A|B)$$

$$P(A^{c}|B) = P(B) - P(A^{c}|B) = P(B)(1 - P(A)) = P(B)P(A^{c})$$
Therefore, A' and B are in dependent

$$P(A^{c}/B^{c}) = 1 - P(A|B^{c})$$

$$P(A^{c}/B^{c}) = P(B^{c}) - P(A|B^{c})P(B^{c}) = P(B^{c})(1 - P(A))$$
 Since A and B^{c} are ind.
$$= P(B^{c})P(A^{c})$$

$$+ \text{therefore } A^{c} \text{ and } B^{c} \text{ are in dependent}$$

```
4: P(AUB) = P(ANB') + P(ANB) + P(A'NB)
                                              since ALB=) { ACLB
          = P(A) P(B') + P(A) P(B) + P(A') P(B)
          = P(A)(P(B) + P(B')) + P(A')P(B)
          = P(A) + (1 - P(A)) P(B) = P(B) + (1 - P(B)) P(A)
b: P(AUB) = P(ANB') + P(ANB) + P(A'NB)
          = p(A) + p(B)
c: P(AUBUC) = P(An(Buc)) + P(An(Buc)) + P(Acn(Buc))
             = P(An(B'nc*)) + P((AnB) (AMC)) + P((A'nB) U(A'nc))
             = P(A)P(B')P(c') + [P((AnB) n (Anc)) + P((AnB) n (Anc)) + P((AnD) n (Anc)))
                          + [P((A'NB) n(A'NC)')+P((A'NB)n(A'NC))+P((A'NB)'n(A'NC))
             = P(A)P(B')P(C')+ [P((AnBIN(ACUC')) + P(ANBINC) + P((A'UB') N(ANC))]
                        +[P((A'NB)n(AUC')) + P(A'NBnc) + P((AUB')n(A'NC))]
             = P(A)P(B')P(c') + P(AnBnc') + P(AnBnc) + P((Acob )nc)
                      + P(ACABACC) + P(ACABAC) + P((AUBC)AC)
            = P(A)P(B)P(C)+ P(A)P(B)P(C)+ P(A)P(B)P(C) + P(A)PB)P(C)+ P(A)PB)P(C)
                    +P((AMC)U(B'nc)) + P((Anc)U(B'nc))
            = P(A) P(B) P(C) + P(A)P(B) P(C) + P(A) P(B)P(C) + P(A) P(B)P(C) + P(A)P(B)P(C)
                   +[P((AMC)n(BMC))+P((AMC)n(BMC))+P((AMC)M(BMC))]
                   + [P((Anc)n(B'nc)') + P((Anc)n(B'nc)) + P((Anc)'n(B'nc)))
             = livel +[P((A(nc)n(BUC')) + P(lat A(nB(nc)) + P((AUC')n(B(nc)))]
                  +[P((Ancin(Buc')) + P(AnB'nc) + P((A'uc')n(B'nc))]
             = P(A) P(C') (P(B')+P(B)) + P(A')P(B) (P(C')+P(C)) + P(A)P(B) P(C)
                  + P(ACNBNC) + P(AC)P(BC)P(C) + P(ANBCNC)
                  + P(AnBnc) + P(A)P(B)P(C) + P(ACNB(NC)
```

- = P(A) P(C') + P(A') P(B) + P(A) P(B) P(C) + P(A') P(B) P(C) + P(A') P(B') P(C)+P(A) P(B') P(C)
 + P(A) P(B) P(C) + P(A) P(B') P(C) + P(A') P(B') P(C)
- = P(A) P(C) + P(A) P(B) +2P(A) P(B) P(C) + P(A) P(C)(P(B) + P(B)))
 4 P(A) P(B) + P(B) +2P(A) P(B) P(C) + P(A) P(C)(P(B) + P(B)))
 - + P(B') P(c) (P(A)+ P(A')) + P(A) P(c) (P(B) + P(B9))
- = P(A) P(c) + P(A) P(B) + 2 P(A) P(B) P(C) + P(A) P(C) + P(B) P(C) + P(A) P(C)
- = P(A) + (1-P(A)) P(B) + (1-P(A)) P(C) + (1-P(B)) P(C) + 2 P(A) P(B) P(C)

1: P(AUBUC) = P(An(BUC)) + P(An(BUC)) + P(Acn(BUC))

= P(An(B'nc')) + P((AnB) U(Anc)) + P((A'nB) U(ASC))

= P(A) + P(B) + P(BUC)

= P(A) + P(Bnc') + P(Bnc) + P(B'nc)

= P(A) + P(B) + P(g/ + P(c)

= p(A) + P(B) + P(c)